B.AINK MODEL

SOLVED PAPER

(2nd Sitting)

CLERK
HELD ON :
17.04.2011
Based on Memory

[ REASONING ABILITY | A B C, D F F, G and 1 are
sitting around a civeular table, facing
Directions (1-8) : Study the fol- | the centre.
Towing srrsmgement carefully and an ® G s sitiing third (o the right of F.
swer the questions given below ® H is not an immediate nelghbour
THAJ BTAEMDGS50O al Fand G, A s sitting second Lo
JEUMBODLUHYACM . the right of H.
L. Flow mamy such vowels are (here ® Bis sirting third to the dght of ©
in the above arrangement which and © is not an immediale
are immediately preceded as well neighbour of G.
ae immediately foliowed by acan- ® D s not an immediate neighbour |
soranl P of H or C. |
11} O 12} Twe 8. Who i sl tirgg eactly hetween 11 |
3] Thres [4] Four and A7
151 Mure: than fosar e (@G |
2. I1all tbe vowels are dedeled from @o #E I
s sbaove avrangemsent, which ol (5} None of these |
Ehe [o1l.<m1_ng will be thirteench 7. ¥our of the following five are alike
frum Lhe right end 7 in & certain way based on thekr |
(1K 2a sealing poaitions in the above
M Mo arran; 1 and 50 form & group.
(5) Nowwe of these Which one does not belong o the
3. How many letters are there he- group
tween Lhe Jetler thal is twentisth (1) FO {2 HG
from the el end and the letter (3 FC 19 BG
thal is sixteenth from Uhe right (5 EA
::S'__l“,_,‘he English lphabotical | g o i oomne in place of tie
i (2 Four fquestion mark [?} based upon the
H iven sealing arrangement ?
:2-] i"‘ P {4) Three AF DG CA 7
5] Mone ol thess
4, Which of the following is Gith Lo j;} :.1? I;: ;E:
the right of the soventeenth from s
thie left cod of the abeve arrange- {aL B
men? 8, Howr many persnns are sitttng he.
nmeL 12U tweon B and E starting from B in
13 H D an anti clockwise direction?
151 None of these g ekl
5. IF all the vowels are changed to {8iThree. (i Four
Uhe next Telter of the English sl [5) None:
phabetical series. how many Bz | 10, What Is the position of E with re-
willl he there in Ehe abaove arrang spest o A
enenl? [nchading the B's al [1) Third e Uhe 2eft
gtven in the arrangement (2} Thir Lu the right
[} Three (2] Two [3) Secomd e Uhe left
(3] Four (4 Six [4) Servend Lo dhe right
(5) Frve (5) Irnamechivate heft
Directions (6-10) : Study the | 11, In a certain onde ‘can you rearl
giver infurn sarefully and answer this" is written as ‘can © read ¥ |

Lhc q.u:n questions |
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BANK OF BARODA CLERK EXAM
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| 16,

Lockiy” 5 wrillen s e 6 how #
today & vou S How will ‘can be
true or’ he wrilten that code ?
[T} or & trus # con * he &

[Z} be % can & of & true @

[3] be @ can * or & rue 5

[4} be S ean # or & Lue @

[5) be @ can # or ® true §

Four of the folloaing ve are alile
in & cerlain way and kenee lorm
# group. Which ol (ke following
dhoess not belong Lo that group #

(1) 48 2} 36
(3 16 141 27
(g) 25

Which of the fellowing will come
i Ahe plage of vhs aestéon mark
(71 in the following series based

on the English alphabetical or
der?

ZX US QO ? UF CA
s L2 MK

i3 NL [EHR

15) K

The positions of the first and
feurth letters ol the werd 'AB-
m’chm_gc\d. almilarly
- scund and
fifth ]tlL\‘rs and third and sisth
leliars are inlerehanged. In the
MEW Arrargen, thus form
howr many leliems are there b
tween the etler which is thid
From the rght and the leller which
I first from e Loft, in the Exn-
glish alphabetical arder 7
(1} Twe {2 Four
13} Five 14] Three
[5) Mone of (hese
‘Bricks’ ame related to Walls' in
the same way a5 Trees' are ro
Tates] to'—

(1} Roata 2] Branches
(3) Forests 14) Flanis
(6] Green

How many meaningful English
words can he formed with the
letlers "OLET using all the letlers
h letter oy onice i el
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K. L, Mand & each ol a different weight,
o ia heavier than L but lighter than K.
Mis lighter than L. ¥ I3 Ughter than N

17.

18. Who among them s the second

19.

known facts,

sion I follows,

MODEL SOLVED PAPER : BANK OF BARODA CLERK EXAM

11} One (2) Two |
131 Thres (4} Four
151 None

Directions (17 - 18) : Among.J,

Who among them is the heaviest?
mnn (21K
L 14} M

15) Cannet be determined

Tightesl?
N 21K

131 L [4) M

18] Cannst be determined

If each vowel in the word
BROUGHT 1s changed to the next
letter in ihe English alphabetical
serice and each consonant is
changed to the previous letter in
the English alphabetical series.
and then the alphabets so fermed
are arranged 1n an alphabetical
arder from bl Lo right, which of
1he folliowing will be fourth from
the left ?

Give answer (4] If neither con- symbol then that even number is

elusion | nor conclusion 11 follows. to be coded as the code for the
Give answer (5 il both conclu- aymbeld,
gions [ and [ follow. i} 1'an edd number is immediately
21. Statements : preceded as well as immediately
All animals are birds. ] futlowed Ly syrnbicls then the odd
| mumher is to be coded as ‘0"

All birds are crows. if 0t bers then

" il 1f there are no even num
Uﬂ:lﬂ"m‘ f the codes of the first and the
L. All animala are crows third elements have (o be inler-
L1 All crows are birds. ol

22. Btatements 26, HOBEAS

Some tricks are magic. (IVESCZD  [2) VEDCZD
All magic are true. (WEVDCED  [4] VEDECD
Conclualons : 5 VEDAZD
L There is a prssibility that all | 27, 28%s3+
tricks are true, 1) WDVHAR 2] WVDAHR
II. There 1s & possibility that all (9 WDVAHG  [4) DWVAHR
magic are tricks. (5} WDVAHR

23. Statements @ 28, ETH2N
All e-madls are messages. (1) LOWPEV (2] LTFWEV
Some messages are letters, (3) LOPVEW (4] LOPWEV
L Atkeast some letters arce-malls. | o acparr
Il Some messages are not e- [1} HRLCPT  [2) LRCHPT
mails. (9 LRHCPT 4] LCHRPT

24. Statements :

LRHCTP
mv e Some threads are eottons, 30, [331%93*&
3G “a Some coltons are nykms. [ITGYDPC (2] TGCFDC
85 Comclusions : [8) TGCDPC  {1) TGCPPC
How many such pairs of letters L All nydons ace | hreads, 5 TSCDPC
are theré in the word DECAYS, 1. Atleast some nylons are Directions (31 - 38] : The fol-
each of which has as many let- threads. Jowing questions are based on the fol-
ters between them in the word | 28, Statements ; lowing three digit numbers :
2&«&.3"*7? a_:d b{:’c:wsrd Some clocks arc watches. 437 254 820 147 063
b g s el Mo clock 15 a wall. 31. TFall the digits of each of the num-
f‘;’;‘__‘“ the English alphabetical Conciusions © bers are arranged in an ascend-
Tics: 1, All walls tches, ing order (within the nomier)
1) One Twor el m‘:y - which number will be the second
1a] Three 14] Nome watches are clor Pughvon: ¢
15) More than three D lons (26 - 30] : In each (1] 254 12) 437
Directions (21 - 25): Ineach of | qurstion helow a given a group of Aum- 1 563 L b
the questions below, two statements | pere rovmbols followed by fve combi- (31 829
are given Fallowed by bwo conclusions | panans of letter codes numbered (1), | 32. I all the three digits of each of
numbered | and [ You have to take | 9y 13 (4} and (8}, You have to find out the numbers are added, the total
the two statements to be true even If | which of the combinations torrectly of which of the following will be
.they seem Lo be al variance from the represents the group of numbers,/sym- the second Jowest?
commpnly krown facts and then de- | s haged an the fallowing coding sys- (1) 437 (2) B2
clde which of the given tem and the and mark the (#1147 (4254
togically foliows from the given state | pumber of that combination as your 15} 563
ments disregarding the commonly | anewer - 33, 17 | s subtracted from the third
. digit of each of the numbers, how
Glve answer (1) if only conclu- |""'""'|nl?lal2|es|a|4|n|o|s|s|a|o|.|s| many numbers will be completely
Ty T divisible by 37
Give answer (2) if onty conctu- | | oze |7"[%*"][2/~[+{*|*[=[o|*[4 1) One 2 Two
sion 11 follows. Conditions : {31 Three
Give answer [3] if either conclu- . 1
@ I the third element is an even [4} Mare than theee
Lt ol bR number and the last element s & 5] None
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MODEL SOLVFD PAPER : BANK OF BARODA CLERK EXAM

34. Which of the following is the
At ef the third digitof the

(1 an
(3 ML

arrangement and so fomm & group.
Which one dhoes not belong 1o the

(2] 1)
111 0ad

levweest mumber and Lhe secord (5) None of 1hese eroup?

digie o 1he second highest num 40, Four of the following live are alike (g 12} oM
her# i 3 cerlain way based on (b KN 141 OK
1) %2 12321 Ling posilions in the alo

5 a5 RE « i e A A

'l'i'} il 2124 Directions (41 - 50) : In ench ol the questions gi

5} 6 i

88, I | s added 1o the second dight | ghe lefi, il the sequence were continaed?
ol boof ihe sumbers, how
mEny numbers will have more Problem Figunres
than one even digit (same or dif- |
ferent even dign} L T O e
1] e 121 T 4k OCQQOOOCTTOOOC_ i
3 Three
141 More than three
15 Mo

Directions (36 - 40 : Sludy (he
iven infnrmation carellly snd answer
the goves yuestions 4

M E M W A O are sitling in
v sbraight line Gucing Morth, not neces
rily s ¢ 1 vader,
= s silting Lotk 1o the lefi ol &
s £ 15 ol sitting at the extreme
endd o the e
% Is siiting chivd 1o the rghd af
M

IS oL an e
ol g

Il the persons are made o =i
In an alphahetcal arder from len
1o right the positions ol how
oy will renin unchanged as
compared 1o their original seat-
Ing posstion®
11 Cne

13 Three

4} More than three

(5 Mone

What = the position of 5 with
resgacl ds ol B

(1) Second teihe el

(2) Third e the right

L0 Seconid ta the right

il immediate right

1% immediate el

mary people are sitting he
Loared 007

111 e

12 Twir

131 Threr

14} More than thire

(5] None

Whict ol 1he paivs represents the
penple sitting al the extreme ends
o the ine?

faite neighhour

(2] Two

F

o

7.

L

B0.

Uhae: B aunswer fggu

o the right shoul

B TR TP
e e [+
T TR S CT =T T iy
il (] 15 14 151
78| | qal |
| L pe 8 e
i
M L5 U A A i A ¢ |
T O 1 O
w48
O AO-RIT A aZ V=R T AW VAT VY WACR T[4 ®Y
IP‘TTpa|ooRRooz*- = 7= 7 wl= Z kA @V|® 24
=Rxozlzv=Txalaey [RrorecjoTRZ*=RT
il i (hi] [EH il
T e e e e e L e L LR b bR
e hk L) :t— * ; * |; !
vzl e cem vesid |soow Bk me U
]

DS
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MODEL SOLVED PAPER : BANK OF BARODA CLERK EXAM

[ NUMERICAL ABILITY

Directions (51 - 75) : What will
come in plaee ol the question mark (7]
in the lollewing questions ?

9,182,
51 3 vEas

5 7

b1} 135 ””ﬁ

T ki

@1y W19z

i5) None of these

B2. 566.9] « 551,34 + 11498 =7
(1} 1233.23  (2) 1222.33
(3 1223.45 (4 1235.88
5] MNone of these

B3, 24 x22-7+ 8
1) 4242 12) 4422
(3) 4224 {4) 4222

(5] Mene of these

o4 2 or 2 or 2 orsozo-7
(1) 758 2) 752
@ 757 4] 753
[5) None of these

55, 122 % 252 - 12234 = 7
(1) 18150 2 18510
13) 18520 4] 18501
{5) None of these

56. 18.2% of 890 = 7
{1} 168.91 2 163.98
3 165.91 [4] 161.98
15) None of these

B7. 45% of 816 — 23% of 7 = 240.7
11 525 2) 540
3} 850 %) 560
(5] Mone of these

88, 7 x flaz =311 %24
(1) s22 12} 624
3 833 14) 634
(5] None of these

58, (263 x12x20) +3+125=7
(1) 2229 2) 2292
(3 2222 4 2027
(5] None of these

B80. 5670 + (28 x 13.5) = 7
12 1218
(2 18 4 14

[5) None of these

B1. 22% of ? + 166.64 = 340
[ 782 (2 786
[3) 784 (4] 7o2

[5) Mone of these

a2,

65,

88,

7.

L

T4

84+ 12+08=7
775 2) 9.85
i3 8.75 (4] 10.15
(5) None of these
1161 = 4* + 1024 = (47
2 (2 4
s e

(5] Mone of these

125 x32x88="7

(1) 358 12) 355
(3] 254 [4) 356
(5] Mone of these

Ji76e +22= 7

me 12) 4096
[ B4 W Jas
[5) Mone of these

TI77 « 5= ?

1) 2922 (2) 225.2
13 228.2 (4] 222.2
15) None of these

5220 + P x 16 = 2175
1) 36 (2] 32
i3} 34 (4] 28

{5} None aof these

54671 - 14455 - 53466 = 7
(1) 6794 [2) 6745

(4 6748 [4) 8744

(5] Mone of theae
18% of 680 - 7 = 68.7

(1] 51.3 12} 53.7

[2) 55.4 4 57.2

[5] Nene of these

25631 + 1442 - 3220 - 7 x 50
(1) 467.88 (2] 479.44
[3) 473.33 (4] 474.55

[5) Mene of these
4561 + 3254 = 5422 + 7

1) 2339 12} 2933
13 2308 (4] 2393
{5 None of these
J6x342+3+82-

(1) 27 (2 729
i3 -29 (4] -720
{5 Mone of these

2525 + 3355 = 32 % 7

(1) 18553 (2) 181.56
@ 18375 [4) 18922
15 Nore of thess

(8- 5%+ figg = (72
() (2 2) 144
iz @ (1aap

(8] None of these

|

2,58 2.,
T gty et
3 2
(1!23 i?blg
42 2
CEH Wz

78.

=]

(5] None of these

The average of four consecutive
even numbers P, Q. R and 5
respectively is 55, What is the
product of ) and 5%

) 3123 (2] 3135

3 3132 [4) 3125

15) Nome of these

The cost of 5 sharpeners and 14
pencils is F 86, What would be
the cost of 15 sharpeners and
42 peneils 7

) F112 2 yaza
Al ies ) 2164
5} Mone of these

12 women alone can complete a
piece of work In 5 days, whereas
Zwomen and 9 children together
can complete the same picee of
work in 10 days. in how many
days can 36 children complete
the same piece of work ?

1) 10days  [2) 2 days
I3 5days {4 Bdays
15) None of these

Whalt is the least number that
can be added to 3500 Lo make it
a perfect aquare ?

111200 2) 169

13) 100 “as

(8] None of these

The sum ol 35% of a number and
12% of the same number is
3055. What is the 72% of that
number ?

(1) 4685 2} 4680
[3) 4675 (4} 4670
(5) Mone of these

. What would be the compound

Interest obtained on an amount
of ¥ 8,800 at the rate of 16
poc.poa. after T years 7

1) ¥ 3.041.25

[2) ¥ 3.014.28

(@) 7 3.044.69

4] ¥ 3.041.28

151 None of theae

1>, JuNEZn  ( PRATIVOGITA KIRAN

www.kiranprakashan.com



MODEL SOLVED PAPER : BANK OF BARODA CLERK EXAM

03 - 98] : What

B2. Find the average of the following | 87, Atruck coversad f 420
Bet of scores @ km in a certain amount of time | shonkd come in place of the gueslion
34, 89, 37. 144, 78. 240, at the speed of 70 kmph, What | mark [ In the following number se-
128, 98 15 the average speed of the bike | ries ?
[1) 106 120 108 that travels & distance of 36 km | g3, 8 41 57 &5 B9 9
13 104 # 102 less than the truck in the same w73 275
(5) Neme of these time® 372 14 76
a7 312 :;{ : :‘mx 13 Nonc of these
PP B4 ) o4 7 10 168 25 47 7
83, If the fractions 3127717 131 55 kemph i e
1 [4] 8 kmph 13 51 14 57
and , are arranged (n descend- (2] None of these {5} None of these
ing order of their values, which | 88 What is the area of the clrele | 98, 430 422 308 - 231 7
one will be the third ? whose clrcumference |s 264 cm? 11) 208 1) 210
. 5 | (1) 6544 sq.cm 13 209 14 206
= 2= | (2) 5454 sq.cm 150 Mome of these
12 k4 (A 5530 sq.cm Dirsctions (88 - 100 : In cach
4 1 [4) 5548 sq.cm of these questions an equation is gven
By oy [5] None of these with a question mark (7} in place of the
correct figure an the right hand side
{51 Neme of these 86, Kiran sold an dtem for 38160 | (i Kae S0 iy, Based on

and incurred a loss of 15%. AL

il sal; lower
% Sunilacld snantique e what price should she have sold

to Vinay at 12% more than the

the values on the lell hand side and
the symbaol of equality given. you have

cost price. If ¥inay pald ¥
17,696 for the vasc what was
ita ariginal cost price #

[1) 715,500 (2} 215,820

(3] ¥15.800 4 T15,520

(5] None of Lhese

The average age of Nitlka and
Krutl 18 21 years. The ratio of
their ages is 4 : 3 respectively.
What 1s Kruti's present age ?

(1} 1Byears  [2) 24 years
[4) 26 years  [4) 16 years
(5} None of these

Acarbon copy centre requires 18
bundles of paper for 5 days.
How many bundbes will it reguire
for 65 days 7

233 21 238

@ 238 [4] 234

(5] Neone of these

a1

GET LATEST INFORMATION

FOR
LATEST VACANCIES
and Dates of |
Written Examinations,
log on our website :

www kiranprakashan.com

the lem (o have gained a proft
of 25% 7

(1 ¥12,200  (2) ¥12,300

(3 Ti3,000

(4} Cannet be determined

(5] None of these

What will come in place of both
ihe question marks (7] in the fol-
lowing question ?

@ 75

a5 mif

11125 2115

131 -25 W17

15] Nene of these

There are 360 students in a class
out of which 35% are day schol-
ars. How many day scholars are
there in the class

(1) 128 2 122

13) 124 14y 126

15) None of these

In an examination il is required
to get 55% of the aggregate
miarks fo pivss. A stucknt gol 340
and was dectared failed by 5%
marks. What are the maxirmuom
aggregate marks a student can
Bet 7

(1] 850

121 660

(3] 680

(4} Cannct be determined

(5] Nonc of these

o deciche which of the following figures
will and th ;

in place of the q;csuan mark.
Symbols wtand for
greater than
equal ko

leaser than

WALy

equal lo

"

equal o
[ (V23S - i3 x-si) = o

2} - 4.5
4] - 54

1) 4.5
(3 5.4
15 4.8
|50 - 6% % 5] = 7

0 70 12t J3761

3 5041 )+ 70
6 705

- 135 + 1408 x 5.5 <7
1) -0.091 2) -0.870
(3 -0.875 {4 -0.875
o -0.587

1175 (62 -T2 = 7

(1) 195 2 -195
3195 14) 196
15 Jies

+[35+2) - 1435+ 3| <7
m=3 e

3 8 [a) 3*
Blz3

100.

www.kiranprakashan.com

PRATIYOGITA KIRAN ) JUNE 2011 @

either greater than or

either lesser than or



J\_{ODEL SOLVED PAPER : BANK OF BARODA CLERK EXAM

CLERICAL APTITUDE

Directions (101 - 138) : In each questlon below a combination of Nasme and Address is given in the first unnum-
bered eodumn at the left fallowed by four such combinations one cach under the columns (1), (2], (3) and (4], Yoo have do
And out the combination which is exactly t & as Lh ion in the first column, The number of
that column whick conlains that combination is the answer, If all the combinationa are different, the answer is (5), L.e.,
“None',

{1) (=] (&) 4 ]

101. Shecla DiSouza Sheela DSouwes Sheeka IXSouza Sheela D'Souza Shella D'Souza MNone
18, June Road 18th, June Road 18, June Road 18, June Read 18, June Road
Sarara 1516 Satara 401518 Sattar 401516 Satara 41516 Satara 401516

102, Venkal Stores Venkat Storca ‘Venkat Stares Venkal Siores Venkar Store MNone
M. Sthool Grounrt Nr. School Ground  Jr School Ground N Sehool Ground  Nr. Schoel Graund
Fh-262041 Ph-26204 1 Ph-262041 Fh-262140 Fh-265204 1

103, Iy Mazareth Ivy Nazreth vy MNazareth Ivy Naguareth Tvy Nazareth Mone
Anandi Apts. Anandi Apls. Anandl Apts. Anandi Apts, Anzndii Apts.
M. RE20156123 M. 9820156123 M. BE201S6123 M. AE20165123 M. 9820155123

104 Cenlury Storage Century Storage Century Storage Century Store Century Storage TNone
Lourdes Church Lourdes Church Lourdes Church Lourdes Church Lourdez Church
Makad 72413 Malad 72413 Mallad 72413 Makad 72413 Malad 72413

108, Sudhal B db None

pace-B B i B B

Pin-400023 Fin- 400023 Pin-40002.3 Pin-200023 Ph-100023

106. Sanchita, Fh.D. Sanchila, Ph.D. Sanchil, Ph.D, Sanchita, Ph.D. Sanchita. Ph.D. Nome
Gurgnon Park Gurgoan Park Gurgaon Fark Gurgaon Park Gurgaon Park
llied Floor 23 1iird Floor 23 [Tird Floor 23 [Ind Floor 23 Hird Floor 23

107. Rajendra Mail Rajendra Naik Rajindra Naik Rapendra MNafls Rajendra Naik Nowe
ENT Clindc: ETHN Clindc ENT Clinie ENT Clinic ENT Clindc
Duler Grounds Duler Grounds Duler Grounds Duler Grounds Dhuler Grounds

108. Alisha Moses Alesha Moses Alisha Moses Alisha Moses Alisha Moscs Bane
Chandanl Travels Chandni Travels Chand Travels Charwlni Travels Chandni Travels
. DE2018 1686 M. 9B20181688 M. BEZ01S1E85 M. 0820161686 0. 820181686

108, Hhartik V.A. Khartik V.4, Kartlkh v.a. Hhartik VA Khartik V.A. None

G.R. Seth Road G.R. Seth Road G.R. Seth Road C.K. Scth Road G.R Set Ribad
Nagpur District MNagpur Disteict Nagpar Disitrict Nagpore District Nagpur District
110. Dr. Anita Karmat Dr. Anita Kamat Dr. Anita Kamat Dr. Anita Kamat Dr. Anita Khamal None

Prary Towers Daory Towers Ivory Tower oty Towers ory Towers
Ph. 4035112 Fh. 4036112 Ph. 4035112 Fh. 4031512 Ph. 4035112

111. Biren Ghosh Biren Ghosh DBiren Ghosh Biren Ghoah Biren Gosh Mone
H.lNo. 115/C-B QKo 115/C-B H.Mo. 151/C-B H.Mo. 115/C-B H.No, 115/C-B
Opp. Sporting Club  Opp. Sporting Club Opp. Sporting Club  Opp. Sporting Club Opp. Sporting Club.

112 Bonny Mathow Bonny Mathew Bany Mathew Bonny Mathew Bonny Mathew Noae
Sapana Towers Sapna Towers Sapana Towers Sapann Towers Sapana Towers
Fax-6526123 Fi-G526123 Fax-8826122 Fax-652213 Fax-A626123

113, Saurav Bancrjee Saurav Banerjes Saurav Banerjes Sauray Bancrjes Saurab Banerjee Mane
Sansakruli Bhdg Sanskriti Bldg, Sanskrutl Bldg, Sanslorati Bldg. Sasnskruti Bldg.

Central Park Central Park Cendral Park Central Pork Central Park

114, Agnelo Vaz Angels Vi Agneln Vaz Agnelo Vaz Agnelo Vaz Hone
Mhisda tsland Mhada laland DMiselaa Dssliaree] Mhada Island Mhada Island
Amrigsar-13 Amritsar-13 Amritsar-13 Amritsar- 13 Aumitaar-31
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MODEL SOLVED PAPER : BANK OF BARODA CLERK EXAM

115.

118.

117

118.

118,

120,

12

124,

Ganesh Traneels

Opp. Roshan MarketOpp. Roshan Market Opp. Roshan Markel Opp. Rustian Market Opp. Rohan Markel

Ganesh Travels

Ganesh Trevels

Gancs Travels

Ganesh Travelks

127.

129,

Fax 6571289 Pin-557 1289 Fax-G57 1280 Fax-6067 1258 Fax-B371288
H. M. Stores H. M. Stores K. M. Stores K. M. Stores M. K. Stores
Orlem Colony Orlem Celony Orlen Colomy Orlem Cobomy Orlem Colony
Opp. Bus Stand Opp. Bus Stand Opp. Bus Stand Mr. Bus Stard Opp. Bus Stand
Mr. P Borkar Mr. D Borlar Mr. P Borkar Mr. P Borkar Mr. P Borkar
ine Villa Villa Villa Villa hone Villa
Mapusa-Goa Telipiursin-Cnit Mapmas-Goa Mapusa-Cioa Mapusa-Goz
Brijesh Shetty Brigesh Shetly Brijessh Shedty Brijesh Shetty Brijesh Shetty
Fh. 20164132 Fh. 201464122 Ph, 20164132 Ph. 20161132 Fh. 20154132
Suchila Kumar Sucita Kumar Suchita Kumar Suchita Kunr Suechila Kurmar
Sporls Club Sporis Chabe Spaorts Club Spart Club Hpurts Cluly
Muimbai Central Murnbai Central Mumhal Geniral Mumbal Central Mumbai Central
Mrs, Nailc Mrs. Naik Mrs. Naik Mrs. Naik Mrs. Nayak
Lourdes Convent  Levdes Convent Lourdes Comvent Lourdes Convent  Lourdes Convent
M : 9453201980 0 @ 463201980 M : S6023 1880 M : 8463201980 M : S4EIZ01 980
Privanka 5.T. Priyanka 5.T. Privanka 5. Priyanka 5.T. Priyanka S.T.
Sun Villa Sun Villa, Sun Villa Sonvilla Sun Villa
Sector D-40 Sector D-49 Seclor D45 Sector D-49 Sector B-40
Swarupa George Svarupa Goorge Swarupa George Swarupa Grorge Swarupa Gorge
Ulas Nagar Estate  Ulas Nagar Estate  Ulas Nagar Estale  Ulas Nogar Bstate  Ulas Nagar Estate
Block 2BC varaks
A K. Desai AK. Desal A Desal AR Dessal A K. Deaai
Block 2C/ 148 Block 2C/ 146 Block 2C /146 Block 2C/ 146 Block 20/ 146
Bardez-Goa Bardez-Goa Bardes-Goa Bardes-Gosa Bardez-Gna
Dr. Gladstone Dr. Gladstone Dr. Gladetone De. Gladatene Dr. Glalstone
Bleediczial Clinde Medicle Clinic Medical Clinge Medical Clinie Medigal Clinic
bolim-Goa -G Goa Clow -Uca
Clmu Ferelra Cinu Perera Cinng Pensira Cinu Perelma Chinu Peretra
Park Lane 211 Park Lane 211 Park Lane 122 Park Lane 211 Park Lane 211
M. 982099391 M. 902099301 B, HY200895391 M. 982089481 M. 982055391
Andre Martin Andrea Martin Andrea Martin Andren Yartin
Per Seranlim Per Sevaniim Per Secanlin Per Serimlim
Dona Paula 19 Drwnia Paula 19 Doma Pawla 18 Dona Paula 19 Dona Paul 19
Meerral Shah Menal Shah Meenal Shah Mecnal Shah Meenal Shah
Opp. Lecla Park  Opp. Leela Park  Opp. Lesfa Park  Opp. Lesla Park  Opp. Leela Park
Holkata 261 Holkata 261 Haolkatia 261 Kolkata 216 HKalkala 261
Mk Roy Iahua Roy Mahua Ray Mihua Roy Mk Rey
YMCA Hostel YMCA Tlostel YHCA Hostel YMCA Hotel YMCA Hoatcl
Nashik-125978 HNashik 425976 MNashik-425476 MNashil-425076 Nasll- 123076
Suresh KW Suresh KN Suresh KN Suresh KN Surcsh BN
C. M, Mehta Rd. ©. N. Mehta Rd. ©. M. Mehta Rd. C. M. Mehia Rd. ©. M. Mehia Red.
Nodda-240003 " Noida-24002:3 Modda-210063 Noddia-240083 Nuiela 2400803
Jevin Kutly Jevin Kutty Jevin Huty Jevin Kutty devin Kutty
Koichel Homse Haichel House Kodchel Hoase Hedshel Flouse Koichel House
Herala-81050 Herala-81059 Kerala-B1065 Herala-81050 Eeraka-31052

MNone

Mo

Mone

Mome

Nome

Mome

Mone

Mo
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131 Vil

13z

133,

134,

138,

40} : The
news item ineach guestion below s to
be ciassified into one of the Gllowing
five areas |

138,

187

139,

@ JUNE 2011 PRATIYOGITA KIRAN

Flot B- Sevtor b = Bl | B Sertor 13

Marcd Maka- L Marol Nake-86
B Vaiedya, Faj Viaidia
Ceneral Stores General Stores
Ml {F) Mulumid [E)
Marn: Mair Maru Nalr
Gajar Street 56 Gajar Sureel 58
Ulhas Village - Ulhas Village
\Jclhan Singh Mohan Sing

M 2l Clab @ Natleasl Club @
11716 Link Hoad  11/18, Link Read
Angela Pinto Angrla Pento
Resmt Palms Resort Palins
Alibag-304621 Allbaug-304621

I!ivev:t.twu (136 -

(1] Speds
(2} Health

{3} Environment

{4} Eeonomics

15} Entertalnment

“The number of the area (1] or (2)
or (A} or (4) ar (5], &s the case
ey be I8 your answer,

A now research study ndicates
that the kind of cockware uaed
hag some correlation with the
chaiesterc] levels,

11} Sporis

[ Health

[ Frvironment

[4] Economics

[5) Entertainment |
More than 900 trees were burmt
o in arder to make apace for

140.

Vinod Porab Winod Parab
Plot B- Seetor L Flo: B- Scetor D
Tarcl Naka-G0 Maro] Maka-G9
Raj Vildya Faj Vil
General Stose General Stores
Wutune (E) uahand (W)
Madhi Nair Mardbs Nalr
Gajar Streat 58 Cajar Street 85
Ulhas Village Ulhas Village
Mohan Singh

MNutional Club &
11718, Link Road
Angela Finto
Resort Palms
Allhaug-304621

Resort Pal

(3] Emvironroent

(4] Ecomomics

(3] Entertainrment

Team’s victory in the last series
was celebrated in & big way,

(L] Sparts.

(2] Health

(3l Erdrenment

41 Economics

(5] Entertainment

Directions [141-148) : lncach

of these questions a group of numbens
are givets which are to be coded as per
the scheme given below, You have to
find out which of the answers (1}, (2),
13) or 14) has the correct coded form of
the ghven numbers. Iif none of the cod-

+ ed forma 18 correct mark (5) Le, Hone
| of these' as the anawer.

ru.mbemlrj [e[e[a]=]a]7]1]%]

| ettersl

[|J‘|F|'\’|E}T|R|S|MI\Z|

building a ne fi]

[1) Sparts 141 439832

[2) Health [L) PEFERT {2} REFZTP

17 Environment [2) REFZFT  |4) REZFFT
[5) None of these

(41 Economics 143, 831591

(5 Entertalnment [1) ZELRFM  [2) ZERLEN

The producers of the upcoming (3] SERLFM  [1) ZERLEM

sl film hoast ahiout the batest %) None of these

sound eifects used in the film. | jq3 234%0]

(i] Sparts (1] TERFFM 2] RETFFM

(2] Health [31 TERFFM  [4) TERFMF

(3] Environment fong of Lhese

{4} Eeonemics

(5} Entertainment % EZJULI:‘

Ahuge hike in the de rates § o

ofal-:'tg'adlng‘:lunk. e 9] None of these

1 l.."ti] Link Road
Angela Pinto

s

Venod Parab
Plot B- Sector D
Marol Naka-60
Raj Valdya
General Stores
Mulund (B}

WMarthu Nadr
Gajar Strcet 56
Ulhes Villege

Mohan Singh
National Club 8
11/18, Link Road

Angela Pinto
Resort Palns
Alibaug- 304621

59

(1) NZSRFF (2] NSZRFF

[3) NSZRFF  [3] MSZRFF

(3 Mone of these

Directions (148 - 150) : In each

e

Norue

None

None

qu:-‘lmﬂl live wortls are given. Which
| of them will come ai the third place I

i arranged alphabetically
146. (1) Heing [2] Beliry
[3) eichalf [4) Behave
[5] Behind
147. (1] Scansion  [2) Scapula
(3] Scandium  [4) Scanty
(3] Scaree
148. (1) Leech 12) Lefty
[ Leave [4) Legacy
(5] Ledger
148. [1] Fuson 2] Futile
(8] Future
(4 ¥usillade
(3] Fururity
150. (1] Bogus (2} Bodge
(3] Bobhin (4} Bogey
(5} Buxikin
GENERAL SOCIO- ECONOMIC
AND BANKING AWARENESS
151. Which of the follewing meetings

took place in Daves in January
2011

(1) world Trade Organisation

(2) World Econcmic Forum

3 G-8

) G20

{3) BRIC Summit

. Which of the fellowing docu-

mentls} is/are considersd as ol
licially valid document to satis-
Fr K¥C norms for apening a Banl
aweronant?

www.HranprakasHm.com
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153,

155,

156,

157.

=

158,

(A) Passport (Bl PAN

[C) Aadhar number issued by
Unigue [dentifleation Author-
ity of India

(Onlyla) 2 Only (B

(3 Only (&) & (8)

(b AL LAY, 1B & [C)

(5} Only [B] & (C)

Ag per the reparts in some inter-

natlonal financlal newspapers

which of the following countries

lended more money to others

than the World Bank?

(1 U= 12) Russin

(3 Chira (4] UK

(5] Avrstratia
Acearding te Uhe recent Economic

Survey 2010-11, tabled in the
Lok Sabha, economic growth in

the nezd fiscal has been projected
al over which of the following lev-
els?

(1) &% (2] 95

(3 7.5% 14 T4

(5) None ol these

Which of the [ollowing

programmes 15 launched by the

Govl. of India lor school going

children?

{1) Bharat Nirman

(2) ASHA

(3) Mid Day Meal

(4} Hutir Jyoti

(5) Operation Flood

Which of the following is NOT a

Ciowt, sponsofed organization?

i1l Small Industrics Develop-
ment Bank ol Tndia

12} NABARD

13} Natiomal Housing Bank

14} ICIC] Bank

{5} All are Govt. sponsored

Which of the following pro-

Erammes is belng implemented in

all the districts of the country ?

{1} Sarva Shiksha Abhiyan

12} Navodaya Vidhyalay

i3 Ultra Mega Power Project

4 Rajiv Gandhi Grameen
Vichthikaran Yojana

|5 None of these

Fiseal Policy is concerned with

which of the follewing?

(1) Export and Import

[ Public Revenue and Expen-
dilure

A Issue of Currency

158, As per Union Budget 2011-12,

160,

161

=]

163. Which of the following services

188. Which of the following s NOT a

) Population Centrol
15} Education forall

for tax purpeses person above S0
vears of age will be calegorized
as—

11} O citizen

{2) Non Tax Payers.

13 Senior Citizen

14) Super Sentor Cliizen

{5) Special Tax Payers

Bharat Nirman Yojana is associ-
ated with the development of
which of the following?

1) Urhan infrastructure

12} Rural infrasteucturs

13 Bridges and roads

14) Information technology

15) Nene of these

Which of the following is (he apex
institution which handles refi-
nance for agricutiore snd rural

development in ndia®
{11 R8I (2) SIDEL
(3 NABARD (4} SEBI

151 Mone of these

Forcign Exchange Reacrves of

India are kept in Lhe custody of

which of the fellowing?

[1] International Bank for Recon-
struction and Development

[2] International Monetary fund-

{3 Government Treasury

[4] Reserve Bank of India

5] State Bank of Indla

is NOT provided by the post of-
fices i lndia®

(1] Savings Bank Scheme

(2} Retailing of Mutusl Funds

(3] Sale of stamps

[4} Issuance of Demarnd Dralts
(5} Life Insurance cover

The Experts Group chaired by the
Frime Minister's Econonic Advi-
sory Council Chairman, C.
Rangarajan, favours mandatory
entitlement of subsidised
foodgrains lo the ‘prioeily” cal- |
egory. Priority Category means — |
(1) Below the Foverty Line
(2) Above the PFoverty Line
(3) Creamy layer

(4) Non ereamy fayer

(5) None of these

part of India's Morey Market?

(1) Bill Marked

(2) Call Money Markel

(3) Banks

(4} Mutial Funds

(5] Indian Gold Couneil

NE Day i observed on wwhich of
the folloaing days?

(11 9th February

(2) Bth Jamuary

(3) 19th Febiruary

[4) 19th March

() Sth March

Which of the lallowing is the
Regulator of the credit ml‘ng
agencica in India®

166.

167.

(1) RBY (2} SBI
(3 SERI [4} SIDBI
[5) None of these

168. Bank rate is decided by which of
the following 7
(1) RBI
(2) Gowt. of India
(3} SEBI1 14 1BA
(5] NABARD
FDL refers to —
(1) Fieed Deposit Interest
(2) Fixed Deposil Investment
[3) Foreign Direct Investment
(4] Puture Derivative Invesiment
(5) None of these .
State Financial Corporations give:
assistance mainly to develop
which of the lollowing?
(1) Small and medium scale in-
dustries
(2) Agricultural sector
(3) Cotton industry
(4) Large scale industries
(5 Coal mines
Whick: of the [llowing lerms is
used in Banking?
(1) Epicenter  [2) Pascals Law
@) Currency
(4] Cenire of Gravity
(5} Latitude
172 Several Public Sector organiza-
Lioss like ONGC, SAIL and NTPC
recerved “Scope Award’. The
award, ia given for which of the
fnlkowing?
{1} Eaming the highest prolil
amongst all F5Ls
{2 For creating the maximum
number of jobs in a year
13 For donating the meximum
amount in Pradhan Maniri
Rahat Kesh in a year

169

170.

17

b
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{4) For cutting down expenditure
by S0% or more in a year to
wipe out losses made in the
previous year

(5] Best Corporate Governance:
s we all know some new inltia-
Uvea were Introduced in the area
of Fiscal Management by the
government of India. Which of the
follovwAng Acts was passed a few
years back 1o keep a check on
the fiscal indiscipline on macro-
sromomie paramelers?

(IJFREMA  [2) FERA

{3 FEMA

14] Public Debt Act

{5) Banking Regulation Act

174, Teaser Rates are related towhich

of the following types of loana ?

11) Home Loans

12) Personal Loans

13) Auto Leans

(4] Reverse Morigage Loans

%) Crop Loans

The Green revolution in fndis was

the outcome of the efforts of who

armongst the following 7

{11 Dr. M. 5. Swaminathan

121 Dr. €. Rangarajan

13] Mr. K. V. Kamath

14} Dr. Rakesh Mohan

(5] Nome of hese

COMPUTER AWARENESS |

178, These provide expransion capabil-
« Wy for a computer system,
(1] sockets
2 bytes
[5) Mone of lhese

173,

175,

177, Aln) ____ allows sharing of a
broadband Internet connection.
1 hub [2) adapter
(3 vouter [4) switch
15) phug.

178. The-clock rate of & processor is
measured in—
(1) milliseconds
(2] Microhertz

(3 megabytes or gigabytes

(4} nanoseconds

5 megaheriz or glgahertz

A computer virus noremally at-
taches itself 1o another computer
program known 48 & —

(1} backdoor program

12) larget program

1 Trajan horse

178,

[4) bose program

[5) Biuetoath

These devices transkate data and |
programs Lhat humans can
wrrderstand into a form that the
COMPULET CAN PIOCCES, !

180,

(1) display (2} toput
[3) output {4} pointer
(5] Mone of these )
The: amount of Lime required by
a storage devlee (o retricve data
and programs is ils —
(1) retrieval speed |
(2] capacity (31 memony |
[4] storage |
[5] acress speed ’
]

181.

1B2. A 32-bil word computer can

access ——- bytes at a time,

14

13 18

(51 30

183. A megabyte 1s actually equal wo
— kilobytes,

28
) 32

(1] 100
(3 1024
4] 1024 x 1024
(5] None of these
The main memory of 4 compuler
must be large encugh to conlain
the active parts of —
EI] the operating system
2] the applications
(3} input foutput storage and
working storage
4} Al of these
(B) None of thes:
This type of memory improves
processing by acting as a
temporary high-speed holding
area betwesn the memery and
the CPU.
11} RAM 12) ROM
13} eache mermorye
4 flash memory
15} EPROM
188, The smallest unit in a digital
system isa —
11) Byte
13) Word
15 Bit
The ecompuler's processor
«conslsts of the following parts
[1) CPU and Maln Memory
12) Hard Disk and Floppy Drive
(4 Main Memory and storage
[4) Operating eyatem and Appli-
cations
15] Contrel Unit and ALU

(2 1000 |

{2) Kilohyte
4) Character

188, . parts connect special types
of music instruments to seund
cards.

1) BUS 2 cPU
i3 Use 4] Mt
%) MINE
189, Sollware you cin use 1o create a

udgel 5 called —
111 word processing sollware
12 graphics softwane

13 utility software

4] spreadshect software

15) Mone of these

| 180, The mouse — usually Appears in

the shape of an arrow.

1) indicator (2] marker

13 meter 4] pointer

159 None of these

Il & processor has a word size of

32 lits, compared Lo processor

wiith o word siee of 16 bits, itcan

process___ &t & time,

11) thrice as much

12) half as much

{3) 3 lourth as much

14} Lhe same nmount

15) Lwice as much

‘Thie most common storage device

for the persunal computer is

the

11) Nagpy disk

12} USE thumb drive

13) zip disk

1) havd disk drive

15) Pen drive

Which device uses a handhekl

operating system?

1) APDA

2] A personal compuler

[3) Alaplop

[4] A mainframe

(3] None of these

Numbers and fermulae entered

ina cell are called

(1] Iabels.

[2) mumeric entries

[3) intersection

[4] tesal {56} fillers

Whal is seftware?

(1) A type of computer code

(2] Acomputer language

3 A set of instructions for ynur

compuler

(4] A& cover for the computer

(5] Mone of thess:

186. Thick, rigid metal plallers that
arc capakie of storing and reinevs

181,

183,

184,

185,

@ JUNE 2011 PRATIYOGITA KIRAN

www.kiranprakashan.com



MODEL SOLVED PAPER : BANK OF BARODA CLERK EXAM

ing Information at a high rate of
spred are known aa —

1) hard disks

[ soft disks.

13) Bash memeny

[4) saN

(%) Mone of these

What Is Windows Explorer?
1) A drive 12 APC

14 A Web browser

M) A netwaork

[ A fite manager

187,

188. 5 the meat popular Inter-
el activity.
1) Art [2) Shopping
3 Searching

4 Fntertainment

[3) Crmumundeation

Compulers prcess binary num-
hrrr.e. which are composed
of .

[ Isand 23 [2] 2s and 45
13 35 and 105 (4} 25 and 3s
153 0= and 1s

ADVD s an example of a [} ~—
11} hard dish

(2] optical disc

3 output devies

(4] solid-state storage device

15) Mone of these

ENGLISH LANGUAGE |

Directions (201 - 208] : Read
each sentence Lo find out whether thers
8 any grasimatital errer in il The er-
ror, i any, wilk be i one part ol the
sentence. The number of thal parl |s
the answer. If these is no ervor, the
answer is (5] 1
crrors ol punc
200, 1 neticed (1)) several reporters

{4/ hovering around 3]/ oulside

ol the covmmonm, (4] Mo Errar (5)
202, My colleagae hid (1) a hard time

Jugaling [2)/ e needs of her Eam-

Ity {3/ with the demands of her

Job. (4 Mo Error (5)

208, Leapite all (L} the media hype.
121/ 1 found the Alm as {31/ very
disappeinling, [4)/ No Error (5]

204, Given thal (137 there was so less
time, {2/ 1 think the students
bawve: (317 cleone 2 good b, (417
Mo Error 5]

208, The winner of (1 the joursalis.
ul b year award was (2)/ not
ather than (317 the editor's daigh-
Ler. {4)/ Na Error 15

199,

www., klranprakashan com

Directions [206 - 210) : In cach
Dflhc fol1m\|ng acnlenu:s an dtiormat-
b i highligh

cd Sclect the 'zl.le: mative which hesl
deseribies its use in the senence.
206. In the last hudget. the govern-
ment brought in a rew scherne
of Laxation.
[1) prioritissd
(3) netified
(5) purchascd
The sales of e connrimy an:in
vreasing by leaps and bounds.
1 as propossd

(21 incaloulated ways

(3 with extreme capadity
] very showly

(9] far leeacr than expeeted
The poliee made consideniile
headway in sorting {he papers.
[1] progress  [2) movement

[ action 4] reconition
(5] measurement

The kind nld woman recelved the
stranger with open arme.

(1} with her arms free

[2] with warmth

(3] with restiaint

L} with gralilesde

(5] wiLds hesilatlen

My [riend ran ofl helter-skelter
domen the slepe.

(1) wknowingly

(2] with minionum speed

3} prarposefully

(4 with unweavering looss

(3 burricdly and in confusion
Directions [211-215) : Fick el
the mosi.effective word fwards from the
given worsdfa L 6l in the blanks o
malee the sentenee meaningfully com-
plete in the comtext of the sentenere,

2] displayed

[4] iretroduced

208.

2IL. [ have given my=ell ___ the end
of Seplember to finish my e
search,
[1] between  (2) until
[N 14) for
151 mear
212. Itis____ that John did not hurt
himzell when he fell ofl his mo
torlake,
(0 uckiby {2 fortunate
(8 underatanding
[t} Fonimch 15 knowing
213, You must nat look directly al tne
sun __ the eolipse.
1) iy 12in

(3} on [BIR"]
(3 al

214, ‘The mist waz so thick, it was like
walking __ o cloud,

(1} heyond 12 by

153 along, 19] thromgh

15] aggsinst

T iokd my friend that he 1ed et

catchabiglah ___a IE rex]

like: the: neve he wras carmying. i

he insisted g

[L] wit

{230 with, absoul 141 Ly,

13 en.

215.

lexn

Directions (216 - 220} : lu sach

Lered {11, 2], 13} and () Cne of
wards printed in bold may cicher |J|\
| wrongly spelt or inappropriate i

cemiexd of the =entenee, Find ou
| word that is inappropei
| spelt, ITany, The momber of thal w

2 your answer. 1 all 11
| ed m bold are correctiv spell and ap
[rropriate i the coztes of Ui seni
then mark {31 Le, Ak Correcl’ as

| answer

216, The results m,f \| 1l survey
1 12)/ have heen (37 vory encar-
| aging. (137 A1l C yle.]

217. W mattered {1]/ 4 greal deal {21/
in the artress [3]/ 7
prople taught (41, of I|c'|. All o=
rect {5

218, The voung bov's aggression (157
i Lusislly o defence [2)/ mec]

agalnsl rejection.

Al Correet | .
219, There arcno easy solutions (1)
problems {21/ uf nuclear
1+ desposal.

£
search. I ‘La.’\ll c e |5]
Directions (221 - 225] : Roor
rumge the following six sentences,
group of seniences A% (B, {1, (L1 1E)
arud (F] i Uhe proper secquence Lo lomm
nesninggal paragraph; (hen answer
the questions given belew thent.
b Then Bankes sad e his
I s sy duly e leach him. |
e 1 ey him here vven {1
therest ol y oave.”
IRy Thuring nnie af these gl herings,
A prapil was conght stealing,
1 I} Whenever Hanked held his medi-
Laation ¢ i Gy
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pa.n.s of Japan would enroll in
them,

MODEL SOLVED PAPER BAMK OF BARODA CLERK EXAM

Rk wis [Z26) 4 merning
stroll by the seaside when he saw a

234, (1) Prepared  (2) appearsd
Al Jook 4} taste
{6} clesn

238, (1) mistake  [2) olfence

13} significance (4} problem
{53 event
Directions (236 - 280) : Resid

the following passage carcfully and
answer the questions given below it
Certain words are printed in bold o
beelp you to lacate them while answer-
Ing some of The queslions.

Amrulamsnda was o well-known
and rch landlord in his village. He and
hia wife were both cunning snd ex-
tremely sly. They made a lot of moncy
Ty chenting and ill-treating their lahour -
ers who worked in their fields.

One day, a young man named
Manikya came to Amrutananda. ask-
ing for work. Amnrutananda was pleas-
antly surprised. No one ever wanted
towork for him beeause of his reputa-
tion, and here was someone walking
rght into his hoosel Manika's next e
worde made him even happder. Mani-
kya said, 71 will work for you for free,
You nesd not pay mea saliry, anly e
me a place loslec'p Lstl“tsolt'lothese

a1 1
filled with jov w'hcn he heard this .mu
was about to agree, when Manikya
added, 't By ane condition: §will

ID) Ldstening to his master. a stream | Man squatting on the beach and filling.
oif tears rolbed down the faee of | @ CUP With sand. The merchant
the Brolber who had stolen. All m”g‘(dﬂ'ﬂ’“cﬂ’;"mai tb:r‘,c ‘]&fs‘;"n‘:;
desire tosteal had therealter van- | oo tum and fillad the cup again.
ished. He contimued to repeat thi activity.

[E} As soon as Bankei had read the | The wenl
petition be called everyone before up to him and asked him what he was
‘him. “You are wise brothers,” he | doing,
told them, “You knowwhat g3 right “1 am Bidhata [meaning Fate),”
and what k= wrong, but this poor | sald the man. [ am mensuring the food :
brother does not even know tight | each man is to (228 today.” “Can you +
Trom wrong.” r[cal]y do that #° asé(]c];i %e mm::ia:jnt.

{Fi This angered the other pupils, | ' [229) you o withhold my midday
whudwieupz\mlitbnn asl?b'!gl’ar meal todayt” "As you wish.” replied
the cilsmissal of the thisf, staling Em,;_‘:e R T

T saliieiiei it | e fish market across the mad, tosk
© 221 Which of Lhe follovwing should be ﬁzh:nglizdhfv;:‘mmn?ﬁm“flm
the alter the he cane d sat down
reartangetent to eal, Tis wile [Z31) the cooked fsh
A B e ‘before him. “Fate has it thal D won't get
F (4.4 my middiay meal,” [232) the man, “But
5 & now who can stop me from eating this
222, Which ol the folknwing should be f’ucguc{_%‘::g x:urgaﬂhc wa:ul;gﬁhgg
the FOURTH senlence after the | ot the way the fish had been (2841 and
rearmangement ¥ she began to scold him. The
me 25 got angry. He got up and stormed out
WF 4B ol the house. 1t was ealy when he cooled
A o that he reallsed the (235) of what
& i had Fate had in
228, Which of the following should be | ihholding his share of food for that
the THIRD sentence after the | giernoon,
sEarTangement 7 228. 1] enjoy 12 thinking
A (iRs] (3] going (4) doing
o F e [5) taling .
(51 E 227, 1] throw 12) keep
224, Which of the following should be [l (4] emptéed
the FIRST sentence after the e (5} reduced
arrangement 7 228, (1} insure {2) deplete
o e (2] getting i4) cating
(EIN8 (£13-] (5] recrive
BE 220, (1} remind 12) plead
228, Which of the bllowing should be (3} say 14 challenge
the FIFTH senlence afler the re- (5) tell
arrangement 7 230. (1) trapped (2) tasted
1L e (3] bought [4} chased
=8 ] A (5) discovered
=1 231. (1) made (2} keep
Directions {226 ~ 230) : In the 1Al placed [4] ate.
following passage, there ars blanks, {5 cleaned
each of which has been numbered. | 232, {1} rcjoiced (2} wonder
These numbers are printed helow the (3 announce (4] reakise
passage and againat each, five words 15) thought
are suggested, one of which fita the | 239, (1) burst (2} started
‘biank appropriately. Find out the ap- 13 turned {) walked
propriate word In cach case. [ held

tell you the truth always. but one dig
of the year 1 will lie te you.”

. Amrutananda, who licd happily
every day of the vear, agreed to thia-
odd condition. So Manibkya jodred him.
He was a wonderful worker - hard -
wierking and trustworthy. He was very
‘homest and soon became Amruta-nan-
da'a right hand man, A year went hy,
] because of Manikya's hard work.
Amrutananda had an excellent harveat.
He and hia wife Mandalind. decided to
| b 2 hig least 1o celebrate. They in-
wiledd all their relatives and frends, who
came from across the village and out
slde Lo participate in Uhia celelration.
Everyone was looking forward o the
delicious feast being planned, On the
morning of the feast, Amrutananda
ciechded hie would also give awiay some
gHts to his relatives, just &0 thal he
could shew-oll, So he set off [or the
market in his cart. As soon as be was
out of sight. Manikora went ronning to
i ristress, Mandaking. He wept loud-
Ty andd beat his chest. Then he (el on
the floor sabbing, and announced, The
mesler is dead.” The carl overtorned
om the road. Cur master has been [al-
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Lened like 2 Chapaltl® As soon as Am- |
rulananda’s wile and relalives heard
this, they started waillng. Manikya
rushed out, saying he would being back
Lhe body, while everyone slarted pre-
paring for the Jast rites.

Mamikya povewenl running Lo his
master and aaid *Masater! Your wife is
el My kinel, kving mbstress is dend.
A eobea bit her and she fell to the
ground, as Blue as the spring shy.”
Amrutananda was stunned. His be-
loved Mandakind, his partner in all his
schemnes, was dead! He couldn’t be-
lizve it. He rushed back home shout-
it her rame,

Mandaking was weaping loudly,
Sitting in the courtvard. When she saw
her Busband run in, she stepped mid
— wall, and Amr:tananda too. stood
epen-moutbed and speechiess, Then
they fell into each other'a arme, un-
alile Lo believe their eyes.

Al ence Lhey turmned to Manikya,
“What ta lhe meaning of this. Manikya 7
his masler demanded in a stern voloe,
Manlkya smiled. *“Femember my con-
dition, thal T would lie only once in a
year? Well. | choose today. You sec
whal lies can do? They nearly de
stroyed your e, Now think about what
happens io the people you lie to svery-
day. Saying this he walked out, leav-
ing behind a sturned and ashamed
lasdlerd
238. Why didn't anvone want to work

for Amrutananda 7 |
(I He shways ill- treated and

whealed his labourers,
{2) He wanted peaple towark for
R for free
13 He never paid thelr ducs on
Hme,
141 T hardly made themn work
[51 T had too mamy crmdlilons
Why did Manikya veluntesr Lo
work for Amrutananda for free?
[1) Hig feod and shelter would be
taken care of.
{2) He was fond of Ammutananda.
[3 He had heard many storles.
ol Astiruslarand:'s generesity,
Newanted to teach Ammta:
nanda a lesson.
He could not find work any-
where else.
Whial was Manikya's Intention for
Ting to his master?
(Al He wanted to dre some al
tenition to himaelf,

237.

14

(]

238,

|E} He was jealous of his master. |

[C} He wanted to cause trouble |
during the celebration.

(1] Only (8}

[2} Only [T and [T} 1

(3 Only 1}

41 Only (B}

(5} Nane of these

What could be an appropriate
tmeral o the story 7

(1] Lying destroys lives.

() Never employ anyone for free.
(3) Abwsys think before you cry.
[4) Mever show off your wealth,
15 Fc;asts always Jead to trage-

299,

240. Which of Lhe ollowing statements
ie false as Inferred from the pas-
sage?

(1] Amrutananda's wife was bit-
Len by a cobra spake.

{2} Manikya was a very hard
working and trustwortby ser-
vant

3] Amrulananda vas knovn lor
his shrewdness.

4] Mantlya chose to work for
Amrutananda for free.

(5] Amrutananda’s harvest was.
suecessful because of Mani-
kya.

On what eondition did Manikya

agree o stay and worlk for Amo-

tananda ?

[1) He would be treated like a
family membar.

[4) Hewould be allowed to lic on
anyone day in the year.

18} e would leave the day bis
master, Ammatananda, Herd 4o

241,

(4] He would not acceps any sala
" 1y, cither in kind or in cash |
fromn Amratananda,
(5) That he could leave whenever
e pleased withoul prics no-
thee.
242, Whal irnpurtant kesson i Amr
“tananda leam froem Mandkys #
(1) To pever hire anyone for free.
§2) That hardwark i the only khy
o succeas.
13) To never show off hts wealth.
4] That it is okay to lie for one
day of the year,
i) Mone of these
. Why did Amrutananda and bis
wife, Mandalkini, =ish to hive 8
celebmaiion 7

1) They wanted to treat Mantkya
te a feast for his effort in the
suecessful harvest.

12) They wanted to give Manikya
a larewell.

13} They received a rich harvest
arwcd o wanbed 1o have a fesst,

14] They had abundant fecd ani
il nok ke whiat to dowiih

i,

[5] They wanied to show oll thesr
wealth 1o thelr nelghbours.

Wiy was Amrutananda’s wife cry-

ingin the house?

(1) Mothing was going right dur-
ing the feast.

121 Her relatives could not make
i for Lhe celebration.

[3) Her best servant, Manikva
announeed that he was quit-
ung

(4] She recetved news that her
husband was dead.

[5] Nong of thess

248. Which ol the fllowing could Tie

an appropriate e for the sto-
oy ?

(1} The Unfortunate Landlord

(2} Manikya — the wise labourer.

(3} The Evil Labourer

[4} The Glorious Feast

[5) The Feast that turned into &

Disaster.

Directions (246 - 248) : Chonse
the word which 1a most nearly the
BAME in meaning as the word prinled
in bold as used in the passage.

246. Overtumed
(1) Slippesd (2} Rotaged
{3) Inverled (4] Accident
15) Blocked

247. 0ad

1) Acceptable (2 Normal
1) Favourable (4} Unigue

{5) Strange

| 248, Stunmed
[11Shocked  {2) Comfused
(3) Doubtful  {4) Hesltant
[%) Scared

Directions (249 - 260) : Choose
the word which is mest OFPOSITE In
meaning of the werd printed in bold
as used In the passage,

249,
(1} Pure 121 5hy
[3) Innocent (4] Harsh
(5] Superior

250. Ashamed
(1) Happy (2] Proud
(3 Geateful  14] Peaccful
(5} Guilty
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ANSWERS 180, (4) | 190, (4] 191. [5)] 192. (1)
183, (1) [184. (1) | 185, (3)| 196. (1}
2.4 8.3} 4.0} 7. (5198, 15| 198 5] 200, 2)
gi@] Zuobr) [202. 19)| 208, () [204, (&)
10, (0] 13, (5] 12. @)
14, (4)| 15, (3| 16. (1) 211, | 212. @
18.13) 18.[2)) 20.(2) 218, (1) 2186, [{]
22, (91| 23.14)| 344
6.2 27.55)| 28.04)
EXIETESE
34.01| 98 2] 38.00) 281, 191|292, 1)
J3a@] @] b 238, (3)|236. (1)
32.2)| 49.12)] 4a0) X
6. (11| 47.0121| 4805 REEAE]
80.12)] 51 1) |- 52. (1) || 245 () | 246 (3) | 347. (51348, (1)
54, (3| 66.12)| 86.19) || [Z4m. (3| 280. @)
88 (1)] 58.(1)] 80.(2)
@0l &6l 66| = EXPLANATIONS)
e EXPLANATIONS
70650 71441 7241 1.®T[HAJ|KRBETAEMDG
B D |LUH
84.[2)| 98, (]| 96.011|| THJIKRBTME]GSJKMBDLHYCHM
| 96, 51|96 (1) | 100. (3]
102 (1) | 108. {2} | 104. (1) 13th fram right
108. (4) | 107. (3) | 108. 14} 8. (3) 20th from the left = B
110. 5] 111 (3) [ 112, 14) 16th from the right = G
114, 3)| 116, (2) | 116. (3} o[SGIKUM]|B
118. (4)] 119. {4) | 120. (3}
s almieea]| e
126, (3] 127. (%) | 128.11] from the left, Le., L.
130. (1) | 131. {3} | 132. (4} 8. (5} There are three As and two Bs.
134, 4] 130, (@) | 196, 1z || (8- 100:
138. (51| 138, (4) | 140. (1)
1432. [4) | 143. (1) { 144. {2}
146, [5) | 147. (4) | 148. (1)
150. (51| 161. (2 | 102 i)
154. (2) | 1585, (3} | 136, (4}
158. (21| 158, (4) | 160. (2
162. (4) | 183 [4) | 184. (1
166. [2) | 167. (3) | 168. (1]
170. ()] 171 13) | 172. 5
174. (1) | 178. (1) | 178, (2} 8. (3] € is sitting exactly bectwean
178, (9 | 179, (3) | 180. (&) Hand A.
182, (1) | 183, (3) | 184, 19 ""ELWP”‘}‘ﬂ;"M’”m“lﬂm‘“m
186. [5) | 167. (5) | 188. (#) o persans.

B. i3l
A'—S»D—'C—--- [ G
P3G A LE}

9. (2} Twa persons - D and G - arc
sitting between B and Ewhern we
counl in anticlockwise direction
from B.

1. (1] E is third 1o the left of A,

11. [5] The words are arranged in
alphabetical order and each word
s lodlowed by o symbol in a set
order :

can you read this —

bow are you today —» (2168

Similariy.
mhclmcw%b@ |_ _'
[or¥] [trues]

12 (4) Excepl 27, a‘ll olher mumbers
are perfect sguares. The number

27 ia a perfect cube.
48 = (705 56 = (6% 16 = 4%

25 = 852

Buat,

7 = (3
133
2B 4, - —| ST TP
B x4 .5 4 2P s h

1. [E] w1
A[BCDIe

18, (3} Several bricks together con-
atitute a Wall, Similarly, several
irees Logether constitule a For-
st

16. (1) Meaningful Word = EOLT

(17 - 18) :
N=K=>J>=L>M

17. (1) N iz the heaviest,

18. (3] Lis the second lightest.

18. 2

R

J n

=1| +1

@

+1 -1 =1

>¢Lm
TE—0
g

#.r.w:—.|

[+

o 1{;:)

v

=
-
=]
o

Ath from lefl
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